BEAEHIFA U-188yh—1)—42023 [UABRI1—R—54EEAST

- (H) 1000 .
%17 gEan—varLoyz B B 1Vs3®& sk B %
(A) 1200 ] —
N7 gt ymsTymz B # 4 VS 0 amEEEE-WHEE)
(£) 1000
V415 i m s sy g W o B10VS 1 #& W & I 10
(1) 1215
YO nmgmpssoor W8 R 2ZVS T EAERT
j:i) Vs &
() 1000 - y
%|¥2 lidmgyooor W A B 1 VS 0O L %
() 1200
/22 [ d500 e W o B 1 VS 1 B I
(£) 10.00
2(4/22 g s bastiis B BEI 1 VS 7@ W @ I 11
(£) 1200 = P
4/22 AP ABE LS kK B 4 VS 1 &RGEEeE-W#LE
# vs E
- (£)_ 1000
BV prmgyooyr B WA T 1VS 0O b %
() 1200 - :
YO rmgyooyr B AE R T 1VS SR #
(1) 100 - [T
3|4/29 gt e W a] £ 10 VS 0 sREERA-mHeE 12
(£) 120 =
Y gEwampyoyyy B K B 2VS4W B B
i) Vs L
- (K)_ 1000 PR -
B[4 gEzp—warTLysz B W B T 8 VS 1 aREesmsrm %
(K) 12:00 =
¥4 gmakovaigLypx Bk B 1 VS 0 @ AR T
(KR) 10:00
4|54 s yon—wame W =] B 4 VS 0 I =] B 13
(K) 12:00 -
A W B 5 Vs 1A &
# vs E
- () 120 an AR (EEEA-
% 5/20 NOREEETS55UE B #f 2 T 10 VS 1 AAGERS-W#2E S
(£) 140 o
52 inmsmsssor M F2zvsow o R
(£)_100
5(7/15 Regrsmur @ W@ I 2VS0®H F/3 B 14
(£)_12:00 :
/15 (R dZ0d e 23 # 1 Vs 0 1 =] B
Eﬁ vs Eﬁ
() 12:00 . -
8|90y inma s & #O0VST® Kk B -
(+)
9/30 e % W B I 0 VS 3 W o .}
(B) 1400
6 |9/24 s H#HfEBI2VS 1R ¥ 15
(£) 12:00 o ~
7/8 R BT 5K in (=] B 4 VS 0 A&REERE-W#2E
# vs i
- (£)_1000 —
#|72cmgysoor W B O BAVSIEAEET %
(£)_12:00 :
T e LAWOH W E =
(H)_ 1000 P
717/23 BRERS 5H R 7] Ff 4 VS 0 A&RGEEGS-M3#2E 16
(H) 1200 -
ey (PN W @ mEovs3m Kk B
# vs Eﬁ
S £
8 17
j:il i
E %
9 18
i &
223 FRF wAB EERT [IT]=}-3 BT ‘KB &R A B | 5 | B |f6] s s mi
Ip2: 3 - - - - - - - - - ofjofojoffojofo 1
BRF - - - - - - - - — of ofofoffo]o]of 1
\woB - - - - - - - - — of ofofoffo]o]of 1
EHEET - - - - — - - - ~— fofolo|ofofofof 1
=1} - - - - - - - - — of ofofoffo]o]of 1
ELET - - - - - - - - ~— fofolo|ofofofof 1
=XB - - - - - - - - — of ofofoffo]o]of 1
&R/ - - - - - - - - — of ofofoffo]o]of 1
- - - - - - - - — ofofofoffo]o]of 1
- - - - - - - - - ofofofoffo]o]of 1




